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Aufgaben-Quickname: 5408

Aufgabe 1
Berechne den Prozentsatz.

a) 88 % von 25=22 b) 95 % von 40=38
d) 85 % von 60=51 e) 2 % von 100=2
g) 34 % von 100=34 h) 50 % von 70=35
j) 28 % von 75=21

Aufgabe 2
Berechne den Prozentsatz.

a) 60 % von 45=27 b) 50 % von 26=13
d) 70 % von 60=42 e) 100 % von 86=86
g) 20 % von 55=11 h) 50 % von 58=29
j) 40 % von 90=36

Aufgabe 3

Berechne den Prozentsatz.
a) 75 % von 171,6=128,7
d) 50 % von 892,4=446,2
i) 100 % von 483,2=483,2
Aufgabe 4

Berechne den Prozentsatz.

a) 25 % von 616=154
d) 100 % von 559=559
g) 100 % von 359=359
j) 55 % von 440=242

Viel Erfolg!
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b) 50 % von 863,2=431,6
e) 5 % von 596=29,8

g) 75 % von 341,2=255.9 h) 100 % von 328,1=328,1

i) 20 % von 909=181,8

b) 40 % von 570=228
e) 30 % von 110=33
h) 100 % von 750=750
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¢) 16 % von 25=4
f) 50 % von 74=37
i) 42 % von 100=42

¢) 40 % von 90=36
f) 35 % von 60=21
i) 100 % von 70=70

¢) 20 % von 344,5=68,9
£) 20 % von 211=42,2

c) 100 % von 193=193
f) 80 % von 200=160
i) 25 % von 656=164
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